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pH = ~log [H']
log 10* = x
log 10~1= -1
log 1072 =-2
log 1077 =-7

[H*] = 10-7H

pH 7 ; [H*]=10"7 mol/L
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K, =[H;0"][OH]=[H"][OH]
K, XREIZEKGFT D
Pk [H]=[OH]
25°C O [HT[OH]=10"=10""°
HPEOKEIEO [H=107 pH=7
100°C  ®F [H'][OH]=10"*"
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{73 GRE & 55k

HCl + HO — H,0" + CI
sfE O] . HCIO,, HNO,, HBr, HI, H,SO,
GE[L73
CH,COOH + H0O =2 HO' + CH,CO0
592 : HNO,, NH,", HCOOH, HF, H,CO,, H,S
FRDIRE « o v o - FRFFHEE B TIRE D
HA + HO =2 HO" + A
_ [H0'][A] _ [H][A7]
“ [HA] [HA]

Ef% (CH,COOH) @ K,=1.8x10"
TrE=U ALY (NH) O K,=56x10"
fgL LCix CH,COOH > NH,*

ML o sRMEIE & 99t AL
JibE A
NaOH — Na* + OH
C,H,ONa
CHO + HO — CHOH+ OH
§RYEFE o] . NO, ,NH,, HCOO ,F,CO,”, S’

HHRDRE « 0 000 e HILMREEE R CIRE D
A+ HO =2 HA + OH
_[HAJ[oH |
oAl

FEfg A 4> (CH,COO0) @ K, =5.6x10"
7 rE=T (NH,) ®K,=18x10"
W E LTI NH, > CH,COO
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iz & Y EL O KIEE O pH OFHE
[1] 7@ HX
SREEOWLEE 5 Cup mol/L (M &)
HL Gy >10°M 72518
[H] =Cy
pH = —log Cy
01MHCI ; [H7=01=10" pH= -logl0'=1
0001 MHCl; [H1=0.001=10° pH= —log103=3
[2] SRIGEHE

MOH

H L Cuoy >10°M 7251F

14
[OH]=Cyoy [H] =1

CMOH

pH =14 +log C,,oy

0.l MNaOH ; [H]=10"/0.1=10" pH=13
0.001 M NaOH ; pH = 11

[3] 99 & & O LB T OIRE W % & Lok 0 pH OFHE
g (HA) &2 O E, MA(M'; Na',K*

....... )
HA -+« « ¢ [ON%)] 5 WAk
MA« « « - - Cy(M) B, EEEES U U A
i i e
1A
K= Tmar 0 HA A
BRA P
] + [M] = [A] + [OH] () Mm* H*
RO
M7 = C, 3) OH-
[HA] + [A] = C, + C, @
IKOA A T8
[H][OH] =K, )
1) Kk
o [HA] |
1] =k, i (1)
[A] 1X22).3) XLy [A] C, + [H7 - [OH] )
Fh@XED [HA] = C, + C, — [A]
= Cy+ Gy~ (Gy+[H1-[OH]) = C, - [H']
oo

+ [OH] &7250T
[A-], [HA] OXE(1Y IZRAT D L6 ABFenD
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C,—[H'] +[oH ]

(] =K. Cy +[H]—[OH ]

(6)

ZOXT C.C, > [H].[0H] Ths7AbiEe6) Kit

[H7] :K‘,%‘; (7)

- R EFER T R U U A% M TORTKIEHRD pH #HET 5
C,.Cy > [H[OH] &fELTHREMNS

4 _ -5 _ -5
[H]=18x10 T =18x10
pH=4.74
+ ZOKEIKR LL 12 0.1 mol O HCl %% 5 &

H]=18x10" Ll —20x107°
09

pH =4.66

© ZOKIEHE 1L 12 0.1 mol @ NaOH Z#MA % &

] =18x107"92 =15x107"

pH = 483
ZOFO X S pH DEALE /NS 5 K5 Il % b OWEIR & FE AT (buffer
solution) &9 . WRAMRR T 5 WG & FREA &0 D .

;
i

() NH,CL+NH, , HF + NaF

Al L OBl ZOLRRERDUMCEIER B,

() NaHCO,, NaH,PO,, Na,HPO,

NADMED pH - 738~746

WIS £ A

HCO0,+HCO, |HPO,, 4/
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WA D KEEL D pH DRI
THEEEMEER, HA ofE MHAM' Na',K*,...) @ Cmol/L &7 pH

HA 2 H'+HA K, = [ ]
2 * o= [HA]
HA 2H +A* K :L*][A%]
< “ [HA]
A EKITMZ T o oz kv
[H3O*] + [HA] = [OH] + [Az]
[H] + [HA] = [OH] + [A”]
[H] = [OH] + [A”] [H,A]

[H] =[oH] +k [a ] [HHA ]

a, [H+] Ka]
= K, + K [HAi] — MiﬂA]
B T

SRR D - TR S L
— K,K,[HA |+K, K,
S T
[HA] = C &9 2¢&
.2 K,(K,C+K,)
M=% e

L, 1) C>>Ka, &L KaC BK, KYREIARVEE

q* 2 K. K,

[ ] - K"JK”z + T

i) C>Ka, T KaC>>K, OFf
[H] =K, K.,

[H] = VKK,
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(f51)
- 0.1 M NaHCO,

11

K, =45x10 |, K

] -

. =47x10
K,(K,C+K,)
K, +C

[H+]2_ K. (K.C+K,) "
- K, +C
_ 45x10 x4.71x10° "7 _ 51 5 00"
0.1 '

= 4.5x10‘7(4.7x10‘ + 10 ‘4)

[H'] = \212x10 " =4.60x10
pH=8.34

0.1M ZnZg/KFENY 7L, KOOCCH,CH,COOH

K, =62x10 °, K, =23x10°
¢ >>K,, K, C>>K,
ThHH1H

[H'] =K, K, =143x10 °
[H] =120x10"
pH=4.92
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0.1 M  TZZNLEEKFEDY T A,

K, =13x10 ", K, =3.9x10 °
C>>K,, K, C>>K,
THD01 D

10

[H'] =k, K, =50.7x10
[H]=7.12x10"
pH=4.15

C¢H,(COOH)(COOK)
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